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1000/0 2do)/d(m_1 + m_2) [1/GeV]

[EEN
o
&

P P B o

558558 n55

A W ooN O N Tw
N

0.5

7000 GeV pp Jets
E — T - 1 T 1T 1 T T T T [ T T T zﬂ
c
= Filtered dijet mass (anti-k (0.7), 2600<p <800, |y|<2.5) =°
— e
= =3
— L0
— Al
E =l=)
— -
E —
= =HM
= ==
= 5
= e m =
= m A=
- L 3o
e 49
= 1 5] mM
- . o
E A
= = R
- R—
= m CMS 3%
L— --O-- Herwig++ 2.7.1 default B
= . N =y
— ' --3-- Herwig 7.0.0 default [ —
= | —a— Pythia 8.308 default - 28
= g3
= ! =Nl
— | — O
SN _—
= =2
1
K y
— voT —0.5
| 1 1 1 1 " | " 1 1 " 1 1 M | .ﬁ:].:[a. I M 11 " 1
0 100 200

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


